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Skills Worksheet

Chapter Review

using key terms


1.
Use the following terms in the same sentence: diffusion and osmosis. ANSWERS VARY

2.
In your own words, write a definition for each of the following terms: exocytosis and endocytosis.

      ANSWERS VARY

Complete each of the following sentences by choosing the correct term from the word bank.

cellular respiration
photosynthesis
fermentation


3.
Plants use PHOTOSYNTHESIS to make glucose.


4.
During CELLULAR RESPIRATION, oxygen is used to break down food molecules releasing large amounts of energy.

For each pair of terms, explain how the meanings of the terms differ.


5.
cytokinesis and mitosis-CYTOKINESIS IS THE DIVISION OF THE CYTOPLASM AND MITOSIS IS THE DIVISION OF THE CHROMOSOMES TO MAKE TWO NEW NUCLEI.

6.
active transport and passive transport
ACTIVE TRANSPORT USES ENERGY AND PASSIVE TRANSPORT DOES NOT USE ENERGY

7.
cellular respiration and fermentation-CELLULAR RESPIRATION RELEASES STORED ENERGY BY USING OXYGEN AND FERMENTATION RELEASES STORED ENERGY WITHOUT USING OXYGEN.
Chapter Review continued
understanding key ideas

Multiple Choice

C

8.
The process in which particles move through a membrane from a region of low concentration to a region of high concentration is


a.
diffusion.
c.
active transport.


b.
passive transport.
d.
fermentation.

A

9.
What is the result of mitosis and cytokinesis?


a.
two identical cells
c.
chloroplasts


b.
two nuclei
d.
two different cells

D

10.
Before the energy in food can be used by a cell, the energy must first be transferred to molecules of


a.
proteins.
c.
DNA.


b.
carbohydrates.
d.
ATP.

C

11.
Which of the following cells would form a cell plate during the cell cycle?


a.
a human cell
c.
a plant cell


b.
a prokaryotic cell
d.
All of the above

Short Answer


12.
Are exocytosis and endocytosis examples of active or passive transport? Explain your answer.

ACTIVE TRANSPORT-THEY BOTH REQUIRE ENERGY

13.
Name the cell structures that are needed for photosynthesis and the cell structures that are needed for cellular respiration.-CHOLROPLAST ARE NEEDED FOR PHOTOSYNTHESIS AND THE CELLULAR RESPIRATION REQUIRES THE MITOCHONDRIA

14.
Describe the three stages of the cell cycle of a eukaryotic cell.

1ST DNA IS COPIED, 2ND DUPLICATE CHROMOSOMES ARE SPLIT, 3RD TWO IDENTICAL CELLS ARE CREATED
Multiple Choice
B

15.
Which of the following best describes the chromosomes of eukaryotic cells?

A.
More-complex eukaryotes have more chromosomes than simpler eukaryotes do.

B.
Different kinds of eukaryotes have different numbers of chromosomes.

C.
The chromosomes in a pair contain very different genetic information.

D.
Each of the chromosomes contains one copy of circular DNA.

A

16.
In eukaryotic organisms, which part of the cell converts the energy stored in food into ATP?

A.
mitochondrion

B.
chromosome

C.
cell membrane

D.
chloroplast
C

17.
Plants are producers. Which of the following statements best describes producers? 

A.
They obtain their food by eating other organisms. 

B.
They make their own food through a process called cellular respiration. 

C.
They capture light energy from the sun and use the energy to make food. 

D.
They take in oxygen and produce carbon dioxide.


C_____ 18.
What is the primary source of energy for all organisms?

A.
carbohydrates

B.
ATP

C.
sunlight

D.
glucose

D

19.
DNA is organized in structures. What are these structures called? 

A.
ribosomes

B.
chloroplasts

C.
nuclei

D.
chromosomes

Chapter Review continued
20.
Making Inferences Which one of the plants pictured below was given water mixed with salt, and which one was given pure water? Explain how you know, and be sure to use the word osmosis in your answer.
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THE PLANT ON THE LEFT WAS GIVEN PURE WATER. THE PLANT ON THE RIGHT WAS GIVEN SALT WATER. OSMOSIS OCCURRED IN BOTH PLANTS. IN THE PLANT ON THE LEFT WATER MOVED INTO THE PLANT BECAUSE THE CONTRATION OF WATER WAS LOWER IN THE PLANT THAN IN THE SOIL.  IN THE PLANT ON THE RIGHT, THE WATER IN THE PLANT MOVED INTO THE SOIL, WHERE THE CONCENTRATION OF WATER WAS LOWER BECAUSE OF THE SALT IN THE WATER.

21.
Identifying Relationships Why would your muscle cells need to be supplied with more food when there is a lack of oxygen than when there is plenty of oxygen present?

WHEN THERE IS PLENTY OF OXYGEN, THE CELLS CAN GET ENERGY FROM CELLULAR RESPIRATION.  WHEN THERE IS A LACK OF OXYGEN, THE CELL MUST USE FERMENTATION, WHICH DOES NOT PRODUCE MUCH ENERGY.

22.
 A parent cell has 10 chromosomes.

a. Will the cell go through binary fission or mitosis and cytokinesis to produce new cells?-THE CELL IS A EUKARYOTIC CELL AND WILL GO THROUGH MITOSIS AND CYTOKINESIS.  PROKARYOTIC CELLS HAVE ONLY ONE CHROMOSOME.
b. How many chromosomes will each new cell have after the parent cell divides?-10
Interpreting graphics

The picture below shows a cell. Use the picture below to answer the questions that follow.
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23.
Is the cell prokaryotic or eukaryotic? Explain why.
THE CELL IS EUKARYOTIC BECAUSE IT SHOWS CHROMATIDS HELD TOGETHER AT A CENTROMERE.

24.
Which stage of the cell cycle is this cell in?

MITOSIS

25.
How many chromatids are present? How many pairs of homologous chromosomes are present?

12 CHROMATIDS, 6 HOMOLOGOUS PAIRS

26.
How many chromosomes will be present in each of the new cells after the cell divides?

6 NEW CHROMOSOMES
Use the diagram below to answer question 27.
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B

27.
During a laboratory experiment, Rosalind made the illustrations above of a cell and a large particle. In a process called endocytosis, the large particle is brought into the cell. Which of the following statements correctly summarizes this process? 

A.
The particle passes directly through a protein channel in the cell membrane. 

B.
The cell membrane surrounds the particle and forms a vesicle which is brought into the cell.

C.
The particle passes directly through the lipids that make up the cell membrane. 

D.
The particle uses osmosis to pass through the cell membrane.

A

28.
Which of the following statements best describes why mitosis is important?

A.
It ensures that each new cell receives a copy of each chromosome from the parent cell.

B.
It ensures that each chromosome from the parent cell is replicated.

C.
It ensures that the parent cell splits completely into two new cells.

D.
It ensures that chromatids line up along the equator of the parent cell.

B

29.
How does cellular respiration in eukaryotic cells differ from cellular respiration in prokaryotic cells?

A.
Cellular respiration in eukaryotic cells requires oxygen; cellular respiration in prokaryotic cells does not.

B.
Cellular respiration in eukaryotic cells occurs in mitochondria; cellular respiration in prokaryotic cells occurs in the cell membrane.

C.
Cellular respiration in eukaryotic cells produces lactic acid; cellular respiration in prokaryotic cells produces carbon dioxide gas.

D.
Cellular respiration is not possible in prokaryotic cells
Briefly describe the 4 stages of Mitosis (think of the hand motions). ANSWERS VARY (PAIRS INTERTWINE, PAIRS LINE UP IN MIDDLE, PAIRS START TO SPLIT, PAIRS MOVE TO POLES)
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